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Job Sequence (d[],p[], n)

1 j[n]: array of integer,

2 J[0]=0; d[0]=0;

3 L

4 job-no=1;

5 fori=2 to n do

6

7 k = job-no;

8 while ((d[i] <d[j[k]]) and (d [j [k]] # k)
9 k=k-1;

10 if ((d[i] = d[j[k]]) and (d [i] > k))

11 {

12 for ¢ =job-no downto k+1 Do
13 e+ 1]=5001;

14 j[k + 1]=i;

15 job-no = job-no + 1;

16 }

17 }
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10 while Q=4
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12 for each v e G.Adj[u]
13 if v .color == WHITE
14 v .color = GRAY
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16 V=1
17 ENQUEUE (Q,v)
18 u.color = BLACK
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Insertion sort (A [1,...,n])

1 for(i=2ton) {

2 temp = Ali]

3 j=i-1

4 while j > 0 & & A[j] > temp) {
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6
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Alj+11=A[j]
j=j—1}//end of while
A[j + 1]=temp }// end of for
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Bubble sort (A[1,...,n])
1 for(i=1ton-1)
2 forG=1ton-1i)

3 if (A[] > A[j + 1]
4 Alj] & A[j+1]
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Selection sort (A[1,...,n])
fori=1ton
min =1
forj=i+1ton
if (A[j] < A[min])
min = j
Ali] > A[min]
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